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e Please check that this question paper contains 11 printed pages and 2 pages
of maps.

e Code number given on the right hand side of the question paper should be
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e Please check that this question paper contains 26 questions.
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e 15 minutes time has been allotted to read this question paper. The question
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on the answer-book during this period.

e (Sgf-am)
GEOGRAPHY (Theory)
frefRa w57 : 3 v SfyFaq 3 : 70

Time allowed : 3 hours . Maximum Marks : 70

64/2/1 1 IR




qa= 799 :

()
(ii)
(it1)
(iv)

.( v)
(vi)
(vit)
(viit)

(ix)

T ) FeT GEIT26 E |
g4t gv7 s & 1
Y% F97 & T 3GF 5F 7 &1

Tv7 §& 1 7 10 % 37 7g-39 a1 399 & 3 JdF 997 1 3% & |
§78 @ F9% ¥99 T I 20 V=l G 37¥F I AGT g =@’ |

TvT G 11 § 20 TF TG-IR a1 T7 & 3K JAF 57 F 3 3F & | FH
& Y% 9T # I 80 ¥l 7 SF F AG g AR |

w:rw'@?rﬂ@25656%—35?37??9???’#9??&?#@%5%?;5#‘
T J9F F97 F IW 150 V=l T 37f4F I 76T &1 AT |

Y99 G 26 HAfGE W T 1T YiifaE @i & ygara I fefd foar
3R THET F @ AT 8 |

"R 3R 9RA F 7 T3 @-aEE @S Sw-giaer 8 savy T
FITT |

gt 9 & g aren o1 Rfgen & 54T & sl @ st 8

General Instructions :

@)

(iv)

(i11)

(iv)

(v)

(vi)

64/2/1

There are 26 questions in all.
All questions are compulsory.
Marks of each question are indicated against it.

Questions number 1 to 10 are very short answer questions
carrying 1 mark each. Answer to each of these questions should
not exceed 20 words.

Questions number 11 to 20 are short answer questions carrying
3 marks each. Answer to each of these questions should not exceed
80 words.

Questions number 21 to 25 are long answer questions carrying
5 marks each. Answer to each of these questions should not exceed
150 words.



(vii) Question number 26 ‘is related to identification or locating and
labelling of geographical features on maps.

(viii) QOutline maps of the World and India provided to you must be
attached within your answer-book.

(ix) Use of templates or stencils for drawing outline maps is
allowed.

1. SIEET & gaers gfg &9 et 7 2 1
When does the positive growth of population take place ?

2. T R ARE SHEEI § Fd S & 9EEg Aee FaRT | 1

Mention the general criteria for differentiating rural and wurban
population.

3. fava 3 5 ¢ diofm wes wull F 99 JaRT | .
Name any two popular tourist regions of the world.

4. FUR Y Fgd § ? 1
What is trade ? '

5. 1991 -2001 % 3RH 9Rd & fFg Uo7 ¥ SOEn & gfg T wod F9 8 ? 1

Which state of India registered the lowest growth rate of population
during 1991 — 2001 ?

6. 0-6% 3Mg a7 § 99 A aifcrl fomT YA act 9RA & TG H AW FaR_C | ]

Name the state of India having the lowest female child ratio 0 — 6 years.
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10.

11.

12.

13.

14.

TERE TR W R G | 1
Define the term ‘Metropolitan City’.

SR-<RyuT MR & I i TR FA-T 7 ? 1
Which is the Northern terminal city of North-South Corridor ?

RA & 9o HewqUl TP Femrl & AW Fasy | 1

Name the most important National waterway of India.

@i YU &% fFEl @ Bl & Ieoi@ Hifg | . AJ%:

Mention any two sources of noise pollution.

T F WA R YR B 8, IR afed wWE N | 3x1=3

Explain with examples how naturalisation of humans take place.

‘O A A ST SR faehed B q9 A P emar 3R weAar off 4@ e 17
ST T S 39 FUA & i fag T | 3x1=3

“Very often, people do not have the capability and freedom to make
even basic choices.” Justify this statement with suitable arguments.

ToR ¥ @ TR W @R 9 ey i @ el A fadmansl @ avfa
SHIST | _ 3x1=3

Describe any three characteristics of modern large scale
manufacturing in the world.

Y ¥ YA & R wafeeid gRom S Wy Sifs | 3x1=3

Explain any three environmental consequences of migration in India.
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Study the map of India given below and answer the questions that follow :
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(15.1) Which state of India, bordering Pakistan, has only one
metropolitan city ? :

(15.2) Name this metropolitan city.

(15.3) Name two metropolitan cities of Uttar Pradesh, which are also
ancient towns of India.

e : a9+ ae iEgia qieandal & e 597 G& 15 % W W 8 -
Note : The following question is for the Blind Candidates only, in lieu of
Q. No. 15 :
fafie ol & 9% fgg & MR W 9RA™ AR & e HT | 91T & fhl
T g TR F AW f T6RY | 15+14=3

Classify the Indian towns on the basis of their evolution in different
periods. Also name any three ancient towns of India.
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16. T T F B A wE @ s e | 3x1=3

Explain any three problems of Indian agriculture.

17. ‘981 S GUUT oS i URHT ST | g9 S Ul & fHl 9ROl & Ieord
FIFT | 1+2=3

Define the term ‘Rainwater Harvesting’. Mention any four advantages
of rainwater harvesting.

18. 9Rd ¥ Wiie S9¥Al & S0 & FEvgEal Hi 2 ? fFE d9 SR & e
FHIfNT | IxI1=3

Why is there a need for the conservation of mineral resources in
India ? Explain any three reasons.

19. 49 fRu MU YRd & UH W@ W 4T @ Rufd Em e smw @ serdH
Waﬁmﬁﬁ%mwm%mﬁﬁq Ixl=3

(19.1) 39 359G 997 & TgA-e 3R 3§ A9 fafaw | -
(19.2) 39 47 & fAu ot & & Eidi & 99 FaiRy |
(19.3) T9 47 & foIU =2 9l & &g &4 ¢ ?
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Study the diagram showing the location of a major steel plant of
India given below and answer the questions that follow :

To Bokaro

g % Steel Plant
& Limestone |
Hirakud Dam ¥ Iron-ore
{me—mme Railway

(19.1) Identify and name the steel plant.
(19.2) Name two sources of water for this plant.
(19.3) Which are the sources of raw materials for this plant ?

Az : frfarad Jv7 Fac FEiT aiienaal & o 597 e 19 & W W 8§

Note : The following question is for the Blind Candidates only, in lieu of
Q. No. 19:
5 el T Seared & A & wfig oS € 2 R AW sRon @ sEren
FHiT | Ixi=3
Why are sugar mills located within the cane producing regions ?
Explain any three reasons.

20. T WU & T & F Yo fFam gve’ & dd 7 o9 = F W 5w
q@mmﬁ%muﬁﬁmmmﬁﬁw%7mﬂﬁmﬁﬁw
HifeT | Ixl =2

How have the Bhils is ‘Petlawad Block’ of Jhabua district of Madhya
Pradesh revitalised large parts of common property resources through
their own efforts ? Explain with examples.
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21.

22,

23.

24,

25.

26.

TOR § @9 FE H qfEad FRA 9 o SR B ARA FSC | T F & TER
FY & ? Y% & g-a fauvan fafay | 2+1+42=5

Explain two factors affecting mining activity in the world. Which are
the two types of mining ? Write two features of each.

gea & & anf § fawfsa ST | 99r & faefaa 9 & 9ew ufiEed & &
IR HEwEql faeiarsl & Wy FI | 2414225

Classify roads into two categories. Explain any four significant
features of the road transport of developed countries of the world.

stedta AR & Rl o MU ) e SR | | Sxish

Explain any five bases of international trade.

FOR # Aior afEdl & faem & fou SoeR 52l o9 SRS & e SN | SxI=5

Explain any five factors responsible for the development of rural
settlements in the world.

HAUPE AR & fo| & fAu 9RdIT 9951 qoH & "o ¥ S | 5

Explain the significance of Indian sea ports for the development of
international trade.

(26.1) §OR ¥ feU TU Toifas W@-aEteE (YR 13) § fefafad 9r o e

"TQ% 4x%=2
A IR F SEEEN & GIH FH S el <9 |

B. faga aiforss 3 S & wh &7 |

C. UR-FAfemq Iomnl & 3ifaq LI |

D. o amfE &t ws 9w fael |

wﬁqwmﬁmmmw%m@ﬁﬁ%@aﬂw
% e AW fafaEe |
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(26.2) WRA & fG@ MU TSHiTGE W@I-AAfE (Y% 15) # Fefafad & fafd sugw
fagl g fe@re 3R s 99 fafew : Ix1=3
i) 1991 -2001 Fi 3&afy ¥ TTHEw & TOE F9 afg | AT TF |
(i) dffe g F FFA H TH GH |
(iii) YA W FT H A TH AT H TH FK |

(26.1) In the given political outline map of the World (on page 13), the
following four features are shown :

A. The country having lowest density of population in Africa.
B. An area of extensive commercial grain farming.
C. The terminal station of the Trans-Canadian Railway.

D. A mega city of South America.

Identify the above features and write their correct names on the
lines marked near each feature. ;

(26.2) In the given political outline map of India (on page 15), locate
and label the following with appropriate symbols :

(1) The state having the lowest growth rate of population
(1991 — 2001).

(ii) A coal mine of Tamil Nadu.

(iii) A cotton textile centre of eastern Uttar Pradesh.

iz : frefefad 597 Fac SiEgia aiemeal & 3T 597 G&I 26 & ©WH W & :
Note : The following questions are for the Blind Candidates only, in lieu
of Q. No. 26 : 5x1=5

(26.1) 3 ¥ SAGEA & T99 FH T al < H AH Fasy |
(26.2) IRfeAE UR-HEEE Yownt & qEl i R & AW 4Ry |

(26.3) 1991-2001 # 3@fy ¥ FAHE A FOH FH g |W AT IRG H
T G 8 2 \

(26.4) dfHa A1g F FEA F FH T @H F A9 IaSC |
(26.5) IW WU & Tt 99 IAT F FH T &K H AW AR |
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(26.1)

(26.2)

(26.3)

(26.4)
(26.5)

64/2/1

Name the country having the lowest density of population in
Africa.

Name the eastern terminal station of the Australian
Trans-Continental Railway.

Which state of India has the lowest growth rate of population
(1991 - 2001) ?

Name any one coal mine of Tamil Nadu.

Name any one cotton textile centre of Uttar Pradesh.
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For question no. 26.2
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Outline Map of India (Political)




